
CUADERNO	
  DE	
  ACTIVIDADES	
   Evaluación:	
  segunda	
  
Curso:	
  2º	
  de	
  Bachillerato.	
  
Asignatura:	
  Geografía	
  de	
  España.	
  
Bloque:	
  Territorio	
  y	
  actividad	
  económica	
  en	
  España	
  

Unidad:	
  8.	
  Espacios	
  Rurales.	
  Agricultura	
  y	
  Ganadería.	
  
	
  

1.	
  Lee	
  el	
  texto	
  que	
  aparece	
  en	
  la	
  página	
  187	
  del	
  libro	
  y	
  contesta	
  las	
  preguntas.	
  

2.	
  El	
  mapa	
  representa	
  los	
  usos	
  del	
  suelo	
  agrario.	
  Analícelo	
  y	
  conteste	
  las	
  
cuestiones	
  siguientes:	
  	
  

a)	
   Nombre	
   todas	
   las	
   provincias	
   que	
   tienen	
   una	
   aportación	
   equilibrada	
   de	
  	
  
agricultura	
  y	
  ganadería	
  	
  

b)	
  ¿Qué	
  relaciones	
  pueden	
  existir	
  entre	
  cada	
  uno	
  de	
  estos	
  usos	
  y	
   las	
  condiciones	
  
naturales	
  de	
  España?	
  	
  

c)	
   Elementos	
   predominantes	
   en	
   los	
   paisajes	
   de	
   las	
   áreas	
   con	
   mayor	
   aportación	
  
agrícola	
   y	
   elementos	
   predominantes	
   en	
   los	
   paisajes	
   de	
   las	
   áreas	
   con	
   mayor	
  
aportación	
  ganadera	
  

	
  

	
  

	
  

	
  

	
  



3.	
   Completa	
   el	
   siguiente	
   cuadro	
   teniendo	
   en	
   cuenta	
   las	
   principales	
  
características	
  de	
  la	
  agricultura	
  tradicional	
  por	
  un	
  lado	
  y	
  moderna	
  por	
  otro.	
  

CARACTERÍSTICAS	
  
AGRICULTURA	
  TRADICIONAL	
   AGRICULTURA	
  MODERNA	
  
	
   	
  

4.	
  En	
  el	
  mapa	
  se	
  representa	
  la	
  distribución	
  de	
  la	
  propiedad	
  agraria	
  por	
  
provincias.	
  Conteste	
  a	
  las	
  siguientes	
  preguntas:	
  	
  

a)	
   ¿En	
  qué	
  provincias	
   la	
  pequeña	
  propiedad	
   supone	
  más	
  del	
  50%	
  del	
   total	
  de	
   la	
  
propiedad	
  agraria?	
  ¿Son	
  sinónimos	
  "pequeña	
  propiedad"	
  y	
  "minifundio"?.	
  Si	
  no	
  lo	
  
fuesen	
  cuáles	
  serían	
  las	
  diferencias.	
  	
  

b)	
   ¿En	
   qué	
   provincias	
   la	
   gran	
   propiedad	
   supone	
   más	
   del	
   50%	
   del	
   total	
   de	
   la	
  
propiedad	
   agraria?	
   ¿Son	
   sinónimos	
   "gran	
   propiedad"	
   y	
   "latifundio"?.	
   Si	
   no	
   lo	
  
fuesen	
  cuáles	
  serían	
  las	
  diferencias.	
  	
  

c)	
   Explique	
   las	
   causas	
   de	
   las	
   que	
   deriva	
   esta	
   distribución	
   y	
   las	
   consecuencias	
  
principales	
  que	
  se	
  han	
  derivado	
  de	
  ella.	
  

	
  

5.	
  Responde	
  al	
  cuestionario	
  final	
  que	
  se	
  encuentra	
  en	
  la	
  página	
  230	
  del	
  libro.	
  


